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FACULTY OF HUMANITIES

B.A. (Third Year) (Fifth Semester) EXAMINATION

NOVEMBER/DECEMBER, 2023

ECONOMICS

Paper-IX

(Industrial Economics (Optional))

(Tuesday, 5-12-2023) Time : 10.00 a.m. to 12.00 noon.

Time—Two Hours Maximum Marks—50

N.B. :— (i) Attempt All questions.

(ii) All questions carry equal marks.

1. What is Public Enterprises ? Explain the features of Public

Enterprises. 10

Or

State the factors affecting on Industrial Location.

3CE86CFB407D2B1FF11F9ECA9217E881
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WT (    2    ) JB—58—2023

2. What is small scale industries ? State the importance of small scale

industries. 10

Or

Explain the Industrial Policy of 1991.

1991 

3. State the causes of industrial sickness. 10

Or

Explain the features of Joint Stock Companies.

4. Explain the meaning and importance of Multinational Corporations. 10

Or

State the problems of Sugar industries in India.
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5. Write short notes on (any two) : 10

(i) Importance of Agro-based industries.

(ii) Meaning of industrialization.

(iii) Remedial measures of industrial sickness.

(iv) Trends in Industrial Growth after 1991.

(i)

(ii)

(iii)

(iv) 1991 

3CE86CFB407D2B1FF11F9ECA9217E881


